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Part A
Answer any ten questions.

Each question carries 2 marks.

What is Welfare definition of Alfred Marshall?

Wirite a note on normative economics.

What is alternate cost?

Define law of demand.

Distinguish between increase in demand and extension of demand.
What is less elastic demand?

How elasticity of demand can be measured under geometric method?
Define consumer.

What is total utility?

What is the relationship between marginal product and total product of a variable input?
Define implicit cost.

What is total variable cost?
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PartB
Answer any six questions.

Each question carries § marks.

Point out the major differences between micro and macro economics.
Discuss the central problems of any economy.

Explain the merits of socialist system.

Explain the different types of market in an economy with examples.
Why does a demand curve slopes downward?

What are the determinanis of supply?

Explain consumer's surplus with suitable illustrations.

Explain the features of Monopoly.

Explain the features of Oligopoly.

PartC
Answer any two questions.

Each question carries 15 marks.

What is economics? Explain the significance of economics?
What is meant by production possibility curve? How can it be determined?

How do the changes in demand and supply affect the market equilibrium?
equal changes in both supply and demand affect equilibrium position?

Describe the Law of Returns to Scale.
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Show how the
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